Copyright © by McDougal Littell, a division of Houghton Mifflin Company.

Answers for 9.7
For use with pages 629-634

9.7 Skill Practice
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1, the image is larger. If the scale
factor is between 0 and 1, the
image is smaller.
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No; dilation does not
preserve length.

A

Reduction; the ratio of
corresponding image to preimage

lengths is between 0 and 1.
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No; the result is the same.

28. a. 2

b. (8, 1)
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As a increases the parabola
becomes steeper; no; there is
no center of dilation.

31. No; the ratio of the lengths of
corresponding sides is not

the same.

32. 4'(4,4),B'(4,12), C'(10, 4)

9.7 Problem Solving

33. 300 mm
35. 940 mm

34. 45 mm

36. 22—5; yes; the center point is (0, 0)

with scale factor 2—5.

37. a. %

e
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b. 8.75 in.
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d. A reflection in both the x-axis
and y-axis occurs as well as
a dilation.

40. a. 80 in.?

b. 4 in. by 5 in.; 20 in.2

c. 4 images

41. It’s the center point of

the dilation.

]

A

kaleidoscope image

9.7 Mixed Review

43. 48 44. 2] 45. 300
46. 720° 47. 1980°
48. 2340° 49. 2880°
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